Multiple Choice Distractors:

Multiple Choice Practice:
1. Which graph represents the solution to: —2x—-1>-13 Which do you think is the best “distractor?”
-A¥ Y -12 Why?
Xab
« i
0 5 1
b 4 . : — 1:0 > & 3°°d dlsh“d"' closed O
c. (; —5 - )x &— good distractor...no signflip
d. = —& »
0 5 10
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2. Given the function: f(x) =2x—5. Find x when f(x) = 9.
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e. No solution

3. Simplify: 9-3(4-7)°+5
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e. No solution




4. Temperature changes throughout the hours of a day. Early in the morning, temperature increases slowly. At noon, the
temperature rises sharply. During the afternoon, the temperature stays the same for several hours. As night falls, the
temperature decreases slightly. Choose the graph that best represents this situation.
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5. Solve: —4x*+25=9
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a x=2 & ~4K =-1b
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b. x=-2 y:*‘z
Xx=2o0r-2
d x=4 Common distvadror
e. No solution
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e. No solution

7. Which of the following graphs represents a function?
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Extra Practice (optional)
1. Find the slope of the line that passes through (-3,5) and (6,8)

w = 8'§ _ 3 l’\_

b--3) a4 |3

2. Find the slope of the line that passes through the points: (-2, 7) and (5, 7). Is the line horizontal, vertical, or

diagonal? N M
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3. Which line has an undefined slope?

a. y=0

x:O

C. y=2x
d. 3x+2y=0

4. State the point and slope in the following equation: y —7 = 4(x —9)

Pt: (a’)?)
Aope = of
5. Find the x and y intercepts of the graph: -2x + 7y = 28 x int: (-l"hO)

(0,4)
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6. Find the x and y intercepts: y=2x-11 Y int: ( “/1‘ 0)

? nt: (0|'”)



7. Find the slope of the line: 8. Find the slope of the line:
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9. Graph: 3)/,:§x+6’_
3 =7 3

3 ' 3 -S -5 / 4
=X+ -
Vo '4 b 'j = —3‘_}-)( ‘f'a:l

11. Isthe point (-2, 5) a solution to the equation 3x —y =- 11




